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Multiplikation - vertikal Name:
L 0se jede Aufgabe. Antworten
1) 42 2 39 3 30 49 18
° 3 ° 3 e 4 ° 6 L
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
42 39 30 18 . 126
° 3 ° 3 e 4 ° 6
126 117 120 108 2 117
3 120
4 108
5 6 7 8
) 55 ) 51 ) 99 ) 55 . 110
e 2 e 5 e 5 e 9
110 255 495 495 6. 255
7 495
8 495
9 10 11 12
) 51 ) 49 ) 63 ) 86 . 408
e 8 e 3 . 8 e 8
408 147 504 688 10. 147
11 504
12 6388
13 14 15 16
) 33 ) 20 ) 31 ) 12 " 231
o 7 o 7 e 3 « 2
231 140 93 24 14. 140
15, 93
16. 24
17 18 19 20
) 40 ) 82 ) 21 ) 24 . 360
[ ] 9 [ ] 5 [ ] 6 [ ] 3
360 410 126 72 18. 410
19, 126
20. 72
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# Multiplikation - vertikal Name:

L 6se jede Aufgabe. Antworten
117 126 688 495
108 504 255 408 1.
120 147 495 110
2.
) 42 2 39 3 30 49 18
e 3 e 3 e 4 e 6 3.
4,
5.
6.
7.
8.
° 55 6 51 ) 99 8 55
¢ 2 e 5 ¢« 5 e 9
10.
11.
12.
9 51 100 49 11) 63 12) 86
e 8 e 3 e 8 - 8
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